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Quiz 7—Friday, April 10

Consider the function f(x) = x3 — 4x? + 5x for 0 < x < 2. Since f is continuous and
differentiable, the Mean Value Theorem asserts that there exists a point c with 0 < ¢ < 2
such that f'(c) equals the average rate of change of f on [0,2].

a) Determine f'(x).
2w = 28°—%x +5.

b) Determine the average rate of change of f on the interval [0,2].
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¢) Find all points c satisfying 0 <c <2 and f'(c) = ——;

We wwst Sehe 3-84S = | ,
le. 0=3c-%+4 = () (c-2).

Tor o<c<2, Hae “"‘E‘ﬁ% 5 C= %—-



